CALCULUS 1

INDEFINITE INTEGRALS
WORKED EXAMPLES
n+l
Note: 1. [ kdx = ke +C 2 [xdv="—+C 3. jldx=1n|x|+c
n+l1 2
4. Icosxdx=sinx+C 5. Isinxdx=—cosx+C

Evaluate the following.
1) J-x"dx 14) J.
2) j (20" =57 +3x+1)dx

I cos xdx
sec x

15) [tan® xdx = [ (sec” x 1) dx
3) j(S——jdx [5—x;jdx 16)§:in0d6)?d

17) [(x* =2)dx
4) j(z‘* )dx 2[x iy 1 o
) I(53 )dx sj(ﬁ]Jx lg)f(t +t_2jd =[(r+r7)

19) I4V wdw = 4] w%dw
3 4
6) jydxqu dx

20) jSede

7 (¥ =1)Vadx = [ (¥ ~1)x 2ds 21)j(x+—Jd [x+x j
9 (5t e[l 22 (e )

9) j3xz_2x“—j3xz 26741 1 32
- B 23 (Nt+—=dt=||t>+t 2 dt
e [ g pr=t[ e

10) j3sinx+5(:osxdx

24) J.cos(x +1)dx

11) I7sec2x—secxtanxdx 25)_[ 2
edx

12) I7 csc’ x+3x7dx

13) [ x4B3xdx = j{\/;jdx



SOLUTIONS
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+C

jx’dx - r+l1

I(2x3 —5x" +3x+ l)dx

== - 4+ +x+C
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—lx4 X +=x*+x+C
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I(S \/;jdx—j[S X ]Jx
=5x—2Jx+C
1
(2(‘/;)dx:2j.x4dx
_8 X +C
2
I(S%/x—z)dx=5j[x3de
3 5
=1?5x3=3x3+C

3
J.Fdx:3j‘x4dx
-3
:3X—+C:—i3+c
-3 X

I(xz—l)\/_dx J.(xz—l) %dx

10.

11.

12.

13.

(98]

14.

1

™

J-3x —2x+1

1

—2x+1)[x;j
= j3x5 —2x? +xiE

5 3 1
=2*§x2 —2*§x2 +2x2+C

5 3 1
zﬁx2 —ﬂx2 +2x2+C
5 3

I3sinx+5(:osxdx

=-3cosx+5sinx+C

2
J.7 sec” x —sec x tan xdx

=7tanx—secx+C

J.7 csc? x+3x%dx

3x°
:—cotx+T+C:—c0tx+x3+C

jx&dpj[\/;]dx

5
3 )
J\/g*xz =2\/§5 Y ic

'[ dx:‘[cosxdx:sinx+c
secx

. J.tan2 xdx = I(secz x—l)dx

=tanx—x+C

) J-sint9d6? =—cos@+C

4

.J.(x3—2)dx=%—2x+C

j(tz +tl2jdz = [(#+¢)at



3 3
_Crre=tilie
3 3 ¢

19. J.4x/;dw = 4] w%dw

3

% A1,2
_2 ;‘W +C:§\/W3+C

20. '[Sezdx =5 +C

21 [ - Jue- [m j .

:7+2\/;+C

12

22. I(ﬂ+x”)dx =7rx+)lc—2+C

-t

212+C

24, J.cos(x+l)dx =sin(x+1)+C

Zx

25, j“dx— +C

2
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